


LOCATION:
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  4 -  6mm
Opt iona l  s tuds  ava i l ab le  -  8 ,  10,  12,  
16,  20mm

MINIMUM CLEARENCE HOLE:
With i so la t ing  s leeves  Ø7 
Without  i so la t ing  s leeves  Ø4.5
 

THREAD:
Head -  M4 x  4mm
Fastener  -  ¼"B.S .W x 8mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

4

3

FX12 HEAD PACK:

HEADS:

BODIES:

7

3
3

1 Ø6.5 PLASTIC SLEEVES

Ø12 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø7

Ø12 PLASTIC WASHER

1/4"  BSW STUD

FX12 30 BODY

1 

10

8

30

30
20

Ø12

Ø12

Ø12

Ø12

Ø2516g

OPTIONAL
LOAD SPREADING

BODY WASHER

FX12 20 BODY

FX12 BW
BODY WASHER

FX12 HEAD

FX12 30 BODY

M4

1/4" BSW

FX12 PIN

20

4 -  6MM PANEL
M4

FX TOOL:

3

F
A

S
T

E
N

E
R

FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

H
E

A
D

B
O

D
Y

12mm DIAMETER PIN



F
A

S
T

E
N

E
R

FX19 BW
BODY WASHER

FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATION:
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  6 -  12mm
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø10
Without  i so la t ing  s leeve Ø7

THREAD:
Head -  ¼"  B.S .W x 4mm
Fastener  -  ¼"  B.S .W x 8mm

FINISH:
Sat in  s ta in less  s tee l

  
MATERIAL:  
303 grade s ta in less  s tee l

PRODUCT COMPLIANCY:
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t ' s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

HEADS:

BODIES:

8

5
1

Ø9.5 PLASTIC SLEEVES

Ø19 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø10

Ø19 PLASTIC WASHER

1/4"  BSW THREAD

FX19 30 BODY

1 
5

30

Ø19

Ø3216g

FX19 HEAD FX19 A HEAD FX19 B HEAD

FX19 C HEAD FX19 D HEAD FX19 E HEAD

10

10

30
20

10

50

Ø19

Ø19

Ø19 Ø19 Ø19

Ø19 Ø19 Ø25

Ø19

Ø19

FX19 10 BODY FX19 20 BODY FX19 30 BODY FX19 50 BODY

FX19 PIN

4

19 25
5

5

FX19 HEAD PACK:

6 - 8MM
PANEL

8 - 12MM
PANEL

OPTIONAL
LOAD SPREADING

BODY WASHER

H
E

A
D

B
O

D
Y

FX TOOL:

19mm DIAMETER PIN

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



F
A

S
T

E
N

E
R

FASTENERS:	 PLEASE NOMINATE REQUIRED SCREW LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  6 -  12mm g lass  or  1  -  
12mm other  sheet  mater ia l s .
Can be used wi th  any 10g 
countersunk se l f  tapp ing ,  se l f  dr i l l ing  
or  mach ine screw.

MINIMUM CLEARANCE HOLE:   
With i so la t ing  s leeve Ø9.5 
Without  i so la t ing  s leeve Ø7

SCREW:
10g countersunk screw

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

5

10g 10g 10g

5

FX19 PSF FIXING PACK:

8

5

5

1

1

Ø19

Ø19 Ø19

Ø25Ø19Ø19

3/4" 1"
1 1/2"

Ø9.5 PLASTIC SLEEVES

CSK SELF TAPPING
10g x 1"

Ø19 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø10

Ø19 PLASTIC WASHER

- 1/4" B.S.W COUNTERSUNK MACHINE SCREWS
- 10g COUNTERSUNK SELF DRILLING SCREWS
- 10g COUNTERSUNK SELF TAPPING SCREWS

*VARIOUS LENGTHS AVAILABLE 

FX19 PSF FX19 B PSF

FX19 C PSF FX19 D PSF FX19 E PSF

HEADS:

BODIES:

10

Ø19

FX19 10 BODY

FX19 PSF
H

E
A

D

FX TOOL:

19mm DIAMETER PANEL SCREW FIXING

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:	 PLEASE NOMINATE REQUIRED STUD LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

STUD OPTIONS:
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm.

MINIMUM CLEARANCE HOLE:   
With i so la t ing  s leeve Ø9.5 
Without  i so la t ing  s leeve Ø7

THREAD:
Head -  ¼"B.S .W x 4mm

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

4 5 5

FX19 BTB FIXING PACK:

8

8

5
1

Ø9.5 PLASTIC SLEEVES

Ø19 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø10

Ø19 PLASTIC WASHER1 
5

Ø19

1/4"  WHITWORTH THREADED STUDS:

LENGTHS AS LISTED

- LENGTH 12MM																		- LENGTH 16MM                - LENGTH 19MM
- LENGTH 22MM																		- LENGTH 25MM																		- LENGTH 27MM
- LENGTH 29MM																		- LENGTH 32MM																		- LENGTH 38MM
- LENGTH 51MM																		- LENGTH 75MM																		- LENGTH 100MM 

HEADS:

FX19 HEAD FX19 A HEAD FX19 B HEAD

FX19 C HEAD FX19 D HEAD FX19 E HEAD

Ø19 Ø19 Ø19

Ø19 Ø19 Ø25

FX19 BTB
H

E
A

D

19mm DIAMETER BACK TO BACK FIXING

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

FX TOOL:



F
A

S
T

E
N

E
R FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  6 -  12mm
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø13
Without  i so la t ing  s leeve Ø7

THREAD:
Head -  ¼"  B.S .W x 4mm
Fastener  -  ¼"  B.S .W x 8mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

HEADS:

25mm DIAMETER PIN

H
E

A
D

BODIES:

B
O

D
Y

8

5
1

Ø12.5 PLASTIC SLEEVES

Ø25 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø13

Ø25 PLASTIC WASHER

FX25 30 BODY

1 
5

10

10

30

30
20

10

50

75

100

Ø25

Ø25

Ø25 Ø25 Ø25

Ø25 Ø25 Ø32

Ø25

Ø25

Ø3216g

Ø25

Ø25

Ø25

FX25 HEAD FX25 A HEAD FX25 B HEAD

FX25 C HEAD FX25 D HEAD FX25 E HEAD

FX25 10 BODY

FX25 BW
BODY WASHER

FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY

FX25 PIN

4

19 25
5

5

FX25 HEAD PACK:

6 - 8MM
PANEL

8 - 12MM
PANEL

FX TOOL:

OPTIONAL
LOAD SPREADING

BODY WASHER
1/4"  BSW STUD

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:	 PLEASE NOMINATE REQUIRED SCREW LENGTH

F
A

S
T

E
N

E
R

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  6 -  12mm g lass  or  1  -  
12mm other  sheet  mater ia l s .
Can be used wi th  any 10g 
countersunk se l f  tapp ing ,  se l f  dr i l l ing  
or  mach ine screw.

MINIMUM CLEARANCE HOLE:   
With i so la t ing  s leeve Ø 13 
Without  i so la t ing  s leeve Ø7

SCREW:
10g countersunk screw

FINISH:
Sat in  S ta in less  S tee l  

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

5

5

10g 10g 10g
FX25 PSF FIXING PACK:

8

5

5

1

1

Ø25

3/4" 1"
1 1/2"

CSK SELF TAPPING
10g x 1"

Ø12.5 PLASTIC SLEEVES

Ø25 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø13

Ø25 PLASTIC WASHER

- 1/4" B.S.W COUNTERSUNK MACHINE SCREWS
- 10g SELF DRILLING SCREWS
- 10g SELF TAPPING SCREWS

*VARIOUS LENGTHS AVAILABLE 

HEADS:

25mm DIAMETER PANEL SCREW FIXING

H
E

A
D BODIES:

10

Ø25

Ø25 Ø25 Ø25

Ø25 Ø25 Ø32

FX25 PSF FX25 A PSF FX25 B PSF

FX25 C PSF FX25 D PSF FX25 E PSF

FX25 10 BODY

FX25 PSF

FX TOOL:

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:	 PLEASE NOMINATE REQUIRED STUD LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

STUD OPTIONS:
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø13 
Without  i so la t ing  s leeve Ø7

THREAD:
Head -  ¼"  B.S .W x 4mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

4 5 5

FX25 BTB FIXING PACK:

8

8

5
1

Ø12.5 PLASTIC SLEEVES

Ø25 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø13

Ø25 PLASTIC WASHER1 
5

Ø25

HEADS:

25mm DIAMETER BACK TO BACK FIXING

H
E

A
D

Ø25 Ø25 Ø25

Ø25 Ø25 Ø32

FX25 HEAD FX25 A HEAD FX25 B HEAD

FX25 C HEAD FX25 D HEAD FX25 E HEAD

FX25 BTB

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

1/4"  WHITWORTH THREADED STUDS:

LENGTHS AS LISTED

- LENGTH 12MM																		- LENGTH 16MM                - LENGTH 19MM
- LENGTH 22MM																		- LENGTH 25MM																		- LENGTH 27MM
- LENGTH 29MM																		- LENGTH 32MM																		- LENGTH 38MM
- LENGTH 51MM																		- LENGTH 75MM																		- LENGTH 100MM 

FX TOOL:



F
A

S
T

E
N

E
R FASTENERS:

13
OR
20

50
OR
75

Ø50

FXNW

FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD
FXST FXTI FXLB FXFP FXMA FXCA

NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  15mm
Opt iona l  ¼"  B.S .W countersunk 
mach ine screws ava i l ab le  -  12,  19,  
25,  32,  38,  44,  50 and 75mm

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  16mm, which 
i s  then countersunk to 26mm. ( re fer  
d iagram)

THREAD:
¼" B.S .W countersunk mach ine 
screw
Fastener  -  ¼"  B.S .W

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY:  
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX25 CSP HEAD PACK:

2 Ø15.5 PLASTIC
ISOLATOR

Ø25 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø16

STAINLESS STEEL CAP

1/4"  BSW STUD

FX25 30 BODY

3 

712

30

Ø25

12

19

10-12MM
MATERIAL

15MM+
MATERIAL

MOUNTING HOLE SPECIFICATION

45

90  INC.

26

16

45

FX25 CSP

HEADS:

25mm DIAMETER COUNTERSUNK PIN

H
E

A
D

B
O

D
Y

FX25 CSP

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

10

30
20

10

50

75

100

Ø25

Ø25

Ø25

Ø25

Ø3216g

Ø25

Ø25

Ø25

FX25 10 BODY

FX25 BW
BODY WASHER

FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY

FX TOOL:
OPTIONAL

LOAD SPREADING
BODY WASHER



F
A

S
T

E
N

E
R FASTENERS:	 PLEASE NOMINATE REQUIRED SCREW LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  12mm
Can be used wi th  any 10g 
countersunk se l f  tapp ing ,  se l f  dr i l l ing  
or  mach ine screw

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  16mm, which 
i s  then countersunk to 26mm (re fer  
d iagram).

SCREW:
10g countersunk screw

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As  F IX  Sy s tems  a re  no t  ce r t i f i ed  
e n g i n e e r s ,  i t  i s  t h e  b u y e r ' s  
r e spons i b i l i t y  to  en su re  t ha t  t he  
app l i c a t ion  o f  a l l  F IX  p roduc t s  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl i an t  w i th  re levan t  sa fe ty  
s tandards .
 

2

3

Ø15.5 PLASTIC
ISOLATOR

MINIMUM CLEARANCE
HOLE Ø16

Ø25 PLASTIC WASHER

712

Ø25

FX25 CSF FIXING PACK:

3/4"

10g 10g 10g

1"
1 1/2"

- 1/4" B.S.W COUNTERSUNK MACHINE SCREWS
- 10g SELF DRILLING SCREWS
- 10g SELF TAPPING SCREWS

*VARIOUS LENGTHS AVAILABLE 

MOUNTING HOLE SPECIFICATION

45

90  INC.

26

16

45

FX25 CSF

HEADS:

25mm DIAMETER COUNTERSUNK SCREW FIXING

H
E

A
D

FX25 CSF

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

Ø25

Ø25

FX25 10 BODY



F
A

S
T

E
N

E
R FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  15mm
Opt iona l  ¼"  B.S .W countersunk 
mach ine screws ava i l ab le  -  12,  19,  
25,  32,  38,  44,  50 and 75mm

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  20.5mm, 
which i s  then countersunk to 33mm 
(re fer  d iagram).

THREAD:
¼" B.S .W countersunk mach ine 
screw
Fastener  -  ¼"  B.S .W

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY:  
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX32 CSP HEAD PACK:

2 Ø20 PLASTIC
ISOLATOR

Ø25 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø20.5

STAINLESS
STEEL CAP

1/4"  BSW STUD

FX25 30 BODY

3 

712

30

Ø32

12

19

10-12MM
MATERIAL

15MM+
MATERIAL

MOUNTING HOLE SPECIFICATION

45

90  INC.

33

20.5

45

FX32 CSP

HEADS:

32mm DIAMETER COUNTERSUNK PIN

H
E

A
D

B
O

D
Y

FX32 CSP

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

10

30
20

10

50

75

100

Ø25

Ø32

Ø25

Ø25

Ø3216g

Ø25

Ø25

Ø25

FX25 10 BODY

FX25 BW
BODY WASHER

FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY

OPTIONAL
LOAD SPREADING

BODY WASHER Ø324mm

FX25 PW
PLUS WASHER

LOAD SPREADING
PLUS WASHER



F
A

S
T

E
N

E
R FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10mm -12mm
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  17mm, which 
i s  then countersunk to 26mm (re fer  
d iagram).

THREAD:
Head -  ¼"  B.S .W x 6mm
Fastener  -  ¼"  B.S .W x 10mm

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
303 Grade Sta in less  S tee l

 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

Ø15.5 PLASTIC
ISOLATOR

MINIMUM CLEARANCE
HOLE Ø17

Ø25 PLASTIC WASHER

1/4"  BSW STUD

CAP

FX25 30 BODY

3 

9
12

30

Ø26

FX25 DUO CSK HEAD PACK:

19

6

10-12MM
PANEL

MOUNTING HOLE SPECIFICATION

45

90  INC.

26

17

45

FX25 DUO CSK

HEADS:

25mm DIAMETER COUNTERSUNK PIN

H
E

A
D

B
O

D
Y

FX25 DUO CSK

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

10

30
20

10

50

75

100

Ø25

Ø25

Ø25

Ø25

Ø25

Ø25

Ø25

FX25 10 BODY FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY

Ø3216g

FX25 BW
BODY WASHER

OPTIONAL
LOAD SPREADING

BODY WASHER Ø324mm

FX25 PW
PLUS WASHER

LOAD SPREADING
PLUS WASHER



F
A

S
T

E
N

E
R

FASTENERS:	 PLEASE NOMINATE REQUIRED SCREW LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10mm > (non-g lass )
Opt iona l  screws ava i l ab le  -  any ¼" 
B.S .W mach ine screw

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  10mm, which 
i s  then countersunk to 24mm (re fer  
d iagram).

THREAD:
Head -  ¼"  B.S .W

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
303 Grade Sta in less  S tee l

 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

MINIMUM CLEARANCE
HOLE Ø10

Ø25 PLASTIC WASHER

Ø9.5 SHANK

1/4"  BSW CSK
MACHINE SCREW

1 

2 

710

Ø24

FX25 CSA FIXING PACK:

6

MOUNTING HOLE SPECIFICATION

45

90  INC.

24

10

45

FX25 CSA

HEADS:

25mm DIAMETER COUNTERSUNK BACK FIXING

H
E

A
D

FX25 CSA

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

Ø25

Ø25

FX25 10 BODY

- 1/4" B.S.W CSK MACHINE SCREWS

*VARIOUS LENGTHS AVAILABLE 



F
A

S
T

E
N

E
R

FASTENERS:	 PLEASE NOMINATE REQUIRED SCREW LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10mm -12mm g lass
Opt iona l  screws ava i l ab le  -  any
¼" B.S .W mach ine screw

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  17mm, which 
i s  then countersunk to 26mm (re fer  
d iagram).

THREAD:
Head -  ¼"  B.S .W

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
303 Grade Sta in less  S tee l

 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

Ø15.5 PLASTIC
ISOLATOR

MINIMUM CLEARANCE
HOLE Ø17

Ø25 PLASTIC WASHER

1/4"  BSW CSK 
MACHINE SCREW

CAP

3 

9
12

Ø26

FX25 CSG FIXING PACK:

6

MOUNTING HOLE SPECIFICATION

45

90  INC.

26

17

45

FX25 CSG

HEADS:

25mm DIAMETER COUNTERSUNK BACK FIXING

H
E

A
D

FX25 CSG

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

Ø25

Ø25

FX25 10 BODY

- 1/4" B.S.W CSK MACHINE SCREWS

*VARIOUS LENGTHS AVAILABLE 



F
A

S
T

E
N

E
R

FASTENERS:	 PLEASE NOMINATE REQUIRED SCREW LENGTH

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  10mm > (non-g lass )
Opt iona l  screws ava i l ab le  -  any ¼" 
B.S .W mach ine screw

MINIMUM CLEARANCE HOLE:  
The c learance ho le  i s  10mm, which 
i s  then countersunk to 24mm (re fer  
d iagram).

THREAD:
Head -  ¼"  B.S .W x 6mm

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
303 Grade Sta in less  S tee l

 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

MINIMUM CLEARANCE
HOLE Ø10

Ø25 PLASTIC WASHER

Ø9.5 SHANK

1/4"  BSW CSK
MACHINE SCREW

1 

2 

710

Ø24

FX25 CSB FIXING PACK:

6

MOUNTING HOLE SPECIFICATION

45

90  INC.

24

10

45

FX25 CSB

HEADS:

25mm DIAMETER COUNTERSUNK BACK FIXING

H
E

A
D

FX25 CSB

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

BODIES:

10

Ø25

Ø25

FX25 10 BODY

- 1/4" B.S.W CSK MACHINE SCREWS

*VARIOUS LENGTHS AVAILABLE 



F
A

S
T

E
N

E
R FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATIONS:
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head pack  10 -12mm
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm

MINIMUM CLEARANCE HOLE:
With i so la t ing  s leeve Ø13
Without  i so la t ing  s leeve Ø10
 

THREAD:
Head -  ¼"  B.S .W x 8mm
Fastener  -  ¼"  B.S .W x 10mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:
303 Grade Sta in less  S tee l

   

PRODUCT COMPLIANCY:
As F IX Sys tems are not  cer t i f ied 
eng ineers ;  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

1
2

Ø12.5 PLASTIC SLEEVES

Ø25 PLASTIC WASHER

MINIMUM CLEARANCE
HOLE Ø13

Ø25 PLASTIC WASHER
1 

7.5

Ø25

197.5

8

FX25 TRI  HEAD PACK:
10 -12MM

PANEL

FX25 TRI

FX25 30 BODY30

1/4"  BSW STUD

TO SUIT 12MM
SOCKET

FX25 TRI  TOOL:

HEADS:

25mm DIAMETER LOW PROFILE PIN

H
E

A
D

BODIES:

B
O

D
Y

10

10

30
20

10

50

75

100

Ø25

Ø25

Ø25

Ø25

Ø3216g

Ø25

Ø25

Ø25

FX25 10 BODY

FX25 BW
BODY WASHER

FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY

FX25 TRI

OPTIONAL
LOAD SPREADING

BODY WASHER

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



F
A

S
T

E
N

E
R

FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

FX25 30 BODY30

1/4"  BSW STUD

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  8 -  12mm
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm  

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø13
Without  i so la t ing  s leeve Ø10  

THREAD:
Head -  ¼"  B.S .W x 8mm
Fastener  -  ¼"  B.S .W x 10mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

1
4

Ø12.5 PLASTIC
SLEEVES

Ø32 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø13

Ø25 PLASTIC
WASHER1 

7.5

Ø32

Ø32

Ø324mm

FX25 PW
PLUS WASHER

LOAD SPREADING
PLUS WASHER

7.5

8

FX25 TRI  PLUS HEAD PACK:

19

8 - 12MM
PANEL

10

10

30
20

10

50

75

100

Ø25

Ø25

Ø25

Ø3216g

Ø25

Ø25

Ø25

FX25 10 BODY

FX25 BW
BODY WASHER

FX25 20 BODY FX25 30 BODY

FX25 TRI PLUS

FX25 50 BODY FX25 75 BODY FX25 100 BODY

OPTIONAL
LOAD SPREADING

BODY WASHER

TO SUIT
 12MM
SOCKET

FX25 TRI  TOOL:

HEADS:

25mm DIAMETER LOW PROFILE PIN

H
E

A
D

BODIES:

B
O

D
Y

FX25 TRI PLUS

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:	 FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

13
OR
20

50
OR
75

Ø50

FXNW FXST FXTI FXLB FXFP FXMA FXCA
NUT & WASHER SPRING TOGGLE THREADED INSERT LAG BOLT FACE PLATE MASONRY ANCHOR CAVITY ANCHOR

LOCATIONS: 
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

SCREWS:
Countersunk ¼" B.S .W mach ine 
thread or  10g countersunk se l f  
tapp ing  thread

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX25 USP PACK:

20 CLAMP BODY

SCREW

USP
CLAMP
ADAPTOR

SCREW

GRUB SCREW

25mm DIAMETER UN-SEEN PIN

H
E

A
D

BODIES:

10

10

30
20

10

50

75

100

Ø25

Ø25

Ø25

Ø25

Ø3216g

Ø25

Ø25

Ø25

FX25 10 BODY

FX25 USP

FX25 BW
BODY WASHER

FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY

FX25 USP

OPTIONAL
LOAD SPREADING

BODY WASHER

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



LOCATION:
In ter ior  and exter ior  (non-mar ine)  
app l i ca t ions

PANEL THICKNESS:
Head Pack  6 -  12mm
Opt iona l  s tuds  ava i l ab le  -  19,  22,  
25,  27,  29,  32,  38,  51,  75,100mm

MINIMUM CLEARANCE HOLE:   
With i so la t ing  s leeve Ø13 
Without  i so la t ing  s leeve Ø7

 

THREAD:
Head -	 1/4"  B.S .W x 4mm
Body -	 1/4"  B.S .W x 8mm

FINISH:
Sat in  S ta in less  S tee l

    

MATERIAL:  
303 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to            
ensure that  the app l i ca t ion o f  a l l  F IX 
products  i s  su i tab le  for  i t s  in tended 
use and that  i t  i s  compl iant  wi th  
re levant  sa fe ty  s tandards .

FX25 WCA DOUBLE CLAMP PACK:

88

20

20

5

1

FX25 WCA - SINGLE CLAMP

1 

5

Ø25

FX19/25 TOOL:

19 25

FX25 WCA SINGLE CLAMP PACK:

6 - 8MM
PANEL

8 - 12MM
PANEL

88 5

1

FX25 WCA - DOUBLE CLAMP

1 

5

8
4

5

11 

5

Ø25

FXBLE

FXWCA

FXBDE

19 25

6 - 8MM
PANEL

8 - 12MM
PANEL

19 25

6 - 8MM
PANEL

8 - 12MM
PANEL

25mm DIAMETER WIRE CLAMP ASSEMBLY FX25 WCA

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:

F
A

S
T

E
N

E
R

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50,  100mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø16 
Without  i so la t ing  s leeve Ø10.5

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 x  12mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

8

10

FX32 HEAD PACK:

12

1 Ø15 PLASTIC
SLEEVE

Ø32 PLASTIC
WASHER 

MINIMUM
CLEARANCE
HOLE Ø16

Ø32 PLASTIC
WASHER 

FX32 35 BODY

M10 STUD

1 

10

35

35
25

50

80

130

Ø32

Ø32

Ø32

Ø505mm

Ø32

Ø50

Ø32

FX32 HEAD

Ø32

FX32 A HEAD

FX32 BW
BODY WASHER

FX32 25 BODY

15

Ø32

FX32 15 BODY FX32 35 BODY FX32 50 BODY

12

12

100

Ø32

FX32 100 BODY

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

10-12MM
PANEL

30

OPTIONAL
LOAD SPREADING

BODY WASHER

Ø32

FX32 LOC HEAD

Ø32

FX32 A LOC HEAD

FX TOOLS:

DUO

60

HEADS:

32mm DIAMETER STRUCTURAL PIN

H
E

A
D

BODIES:

B
O

D
Y

FX32 PIN

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:	 PLEASE  NOMINATE REQUIRED STUD LENGTH

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

STUD OPTIONS:
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50,  100mm, cus tom

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø16
Without  i so la t ing  s leeve Ø10.5

THREAD:
Head -  M10 x  8mm

FINISH:
Sat in  S ta in less  S tee l  

MATERIAL:  
316 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

8 10

FX32 BTB FIXING PACK:

12

12

1

Ø15 PLASTIC
SLEEVE

Ø32 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø16

Ø32 PLASTIC
WASHER

1 

10

Ø32

Ø32

FX32 HEAD

Ø32

FX32 A HEAD

Ø32

FX32 LOC HEAD

Ø32

FX32 A LOC HEAD

HEADS:

32mm DIAMETER STRUCTURAL BACK TO BACK FIXING

H
E

A
D

FX32 BTB

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

FX TOOLS:

DUO

M10 THREADED STUDS:

LENGTHS AS LISTED

- LENGTH 16MM                - LENGTH 20MM																			- LENGTH 25MM
- LENGTH 30MM                - LENGTH 35MM																			- LENGTH 40MM
- LENGTH 50MM																		- LENGTH 100MM																	- CUSTOM



F
A

S
T

E
N

E
R

FASTENERS:

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10mm -12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50mm

MINIMUM CLEARANCE HOLE:   
The c learance ho le  i s  21mm, which 
i s  then countersunk to 36mm (re fer  
d iagram).

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 x  12mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  S tee l  

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX32 DUO CSK HEAD PACK:

Ø19.5 PLASTIC 
ISOLATOR

Ø32 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø21

CAP

M10 THREAD

FX32 35 BODY

3 

9
12

35

20

8

Ø32

FX32 DUO CSK

MOUNTING HOLE SPECIFICATION

45

90  INC.

36

21

45

HEADS:

32mm DIAMETER STRUCTURAL COUNTERSUNK PIN

H
E

A
D

BODIES:
Ø32  + Ø50

B
O

D
Y

FX32 DUO CSK

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

12

12

35
25

50Ø32/50

Ø32/50

Ø505

Ø32/50
FX32 BW

BODY WASHER

FX32 25 BODY

15

Ø32/50

FX32 15 BODY FX32 35 BODY FX32 50 BODY
FX50 25 BODYFX50 15 BODY FX50 35 BODY FX50 50 BODY

OPTIONAL
LOAD

SPREADING
BODY WASHER

FX DUO TOOL:

Ø50

FX50 PW
PLUS WASHER

OPTIONAL
LOAD

SPREADING
PLUS WASHER5

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60

Ø36



F
A

S
T

E
N

E
R

FASTENERS:

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50mm, cus tom

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø20
Without  i so la t ing  s leeve Ø17

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 X 12mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  s tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

9.5

8

FX32 TRI  HEAD PACK:

1
3 Ø19 PLASTIC

SLEEVE

Ø32 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø20

Ø32 PLASTIC
WASHER

M10 STUD

1 

9.5

Ø32

20

10-12MM
PANEL

FX32 TRI

FX32 35 BODY35

FX32TRI  TOOL:

TO SUIT 12MM
SOCKET

12

12

35
25

50Ø32

Ø32

Ø32

Ø505mm

Ø32

FX32 BW
BODY WASHER

FX32 25 BODY

15
Ø32

FX32 15 BODY FX32 35 BODY FX32 50 BODY

100

Ø32

FX32 100 BODY

OPTIONAL
LOAD SPREADING

BODY WASHER

HEADS:

32mm DIAMETER STRUCTURAL LOW PROFILE PIN

H
E

A
D

BODIES:

B
O

D
Y

FX32 TRI

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60



F
A

S
T

E
N

E
R

FASTENERS:

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50mm, cus tom

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø20 
Without  i so la t ing  s leeve Ø17

 

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 x  12mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  S tee l  for  
exter ior  app l i ca t ions .

 

PRODUCT COMPLIANCY: 
As  F IX  Sy s tems  a re  no t  ce r t i f i ed  
e n g i n e e r s ,  i t  i s  t h e  b u y e r ' s  
r e spons i b i l i t y  to  en su re  t ha t  t he  
app l i c a t ion  o f  a l l  F IX  p roduc t s  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl i an t  w i th  re levan t  sa fe ty  
s tandards .

1

5
Ø19 PLASTIC
SLEEVES

Ø50 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø20

Ø50 PLASTIC
WASHER

OPTIONAL
FX32 PW
PLUS WASHER

1 

9.5

Ø50

9.5
8

5

FX32 TRI  PLUS HEAD PACK:

25

10-12MM
PANEL

FX32 TRI

M10 THREAD

FX32 35 BODY
35

12

12

35
25

50Ø32

Ø32

Ø50

Ø32
FX32 BW

BODY WASHER

OPTIONAL
LOAD

SPREADING
BODY WASHER

FX32TRI  TOOL:

TO SUIT
12MM
SOCKET

Ø50

Ø50

FX50 PW
PLUS WASHER

OPTIONAL
LOAD

SPREADING
PLUS WASHER5

HEADS:

50mm DIAMETER STRUCTURAL LOW PROFILE PIN

H
E

A
D

B
O

D
Y

FX32 TRI PLUS

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60

5mm

FX32 25 BODY FX32 35 BODY FX32 50 BODY
FX50 25 BODY

15

Ø32/50

FX32 15 BODY
FX50 15 BODY FX50 35 BODY FX50 50 BODYBODIES:

Ø32 + Ø50



F
A

S
T

E
N

E
R

FASTENERS:

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10mm -12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø20
Without  i so la t ing  s leeve Ø17 

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 x  12mm

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
316 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

9.5

8

FX32 DUO HEAD PACK:

1
3

Ø19 PLASTIC
SLEEVE

Ø32 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø20

Ø32 PLASTIC
WASHER1 

9.5

Ø32

20

10-12MM
PANEL

FX32 DUO

FX32 50 BODY

M10 THREAD

50

35
25

50Ø32

Ø32

Ø32

Ø505mm

Ø32
FX32 BW

BODY WASHER

FX32 25 BODY

15

Ø32

FX32 15 BODY FX32 35 BODY FX32 50 BODY

OPTIONAL
LOAD SPREADING

BODY WASHER

FX TOOLS:

12

12

100

Ø32

FX32 100 BODY

DUO

HEADS:

32mm DIAMETER STRUCTURAL LOW PROFILE PIN

H
E

A
D

BODIES:

B
O

D
Y

FX32 DUO

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60



FASTENERS:	 FASTENERS COME WITH COMPATIBLE M10 STUD

F
A

S
T

E
N

E
R

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Standard Head Pack  -  10mm -12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø20 
Without  i so la t ing  s leeve Ø17

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 x  12mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

1

5 Ø19 PLASTIC
SLEEVE

Ø50 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø20

Ø50 PLASTIC
WASHER

1 

9.5

Ø50

25

9.5
8

FX32 DUO PLUS HEAD PACK:
10-12MM

PANEL

FX32 DUO PLUS

M10 STUD

FX50 35 
BODY35

12

12

35
25

50Ø32

Ø50

Ø32

Ø505mm

Ø32

FX32 25 BODY FX32 35 BODY FX32 50 BODY
FX50 25 BODY FX50 35 BODY FX50 50 BODY

OPTIONAL
LOAD

SPREADING
BODY WASHER

FXDUO TOOL:

Ø50

OPTIONAL
LOAD

SPREADING
PLUS WASHER5

80

130
Ø50

FXTBFXCS FXLBFXFPFXDB FXCH

60

HEADS:

32mm DIAMETER STRUCTURAL LOW PROFILE PIN

H
E

A
D

BODIES:
Ø32 + Ø50

B
O

D
Y

FX32 DUO PLUS

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

15

Ø32/50

FX32 15 BODY
FX50 15 BODY

FX32 BW
BODY WASHER

FX50 PW
PLUS WASHER



F
A

S
T

E
N

E
R

FASTENERS:

LOCATIONS:
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  12mm
Opt iona l  s tuds  ava i l ab le  -  16,  20,  
25,  30,  35,  40,  50mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø16
Without  i so la t ing  s leeve Ø10.5

THREAD:
Head -  M10 x  8mm
Fastener  -  M10 x  12mm

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

8

10

FX50 HEAD PACK:

12

1 Ø15 PLASTIC
SLEEVE

Ø50 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø16

Ø50 PLASTIC
WASHER

FX32 35
BODY

M10 STUD

1 

10

35

Ø50

10-12MM
PANEL

30

FX50 HEAD

12

12

35
25

50Ø32/50

Ø32/50

Ø50

Ø50 5mm

Ø32/50

FX32 BW
BODY WASHER

FX32 25 BODY FX32 35 BODY FX32 50 BODY
FX50 25 BODY

15

Ø32/50

FX32 15 BODY
FX50 15 BODY FX50 35 BODY FX50 50 BODY

OPTIONAL
LOAD SPREADING

BODY WASHER

FX TOOL:

HEADS:

50mm DIAMETER STRUCTURAL PIN

H
E

A
D

BODIES:
Ø32 + Ø50

B
O

D
Y

FX50 PIN

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60



F
A

S
T

E
N

E
R

FASTENERS:

M10 STUD

FX32 25 BODY
25

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

PANEL THICKNESS:
Head Pack  10 -  12mm
Opt iona l  M10 Countersunk Cap 
Screw 20,  25,  30,  35,  40,  50mm

MINIMUM CLEARANCE HOLE:  
With i so la t ing  s leeve Ø16
Without  i so la t ing  s leeve Ø10.5

SCREW:
Countersunk M10 Cap Screw

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:  
316 Grade Sta in less  S tee l

PRODUCT COMPLIANCY: 
As  F IX  Sy s tems  a re  no t  ce r t i f i ed  
e n g i n e e r s ,  i t  i s  t h e  b u y e r ' s  
r e spons i b i l i t y  to  en su re  t ha t  t he  
app l i c a t ion  o f  a l l  F IX  p roduc t s  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl i an t  w i th  re levan t  sa fe ty  
s tandards .  

1

6.5
Ø15 PLASTIC
SLEEVE

Ø50 PLASTIC
WASHER

OPTIONAL
FX32 BW
BODY
WASHER

Ø50 PLASTIC
WASHER

MINIMUM
CLEARANCE
HOLE Ø16

1 
5 

10

Ø50

20

10

FX50 CAP HEAD PACK:

10-12MM PANEL

FX50 CAP

12

12

35
25

50Ø32/50

Ø32/50

Ø505

Ø32/50
FX32 BW

BODY WASHER

FX32 25 BODY

15

Ø32/50

FX32 15 BODY FX32 35 BODY FX32 50 BODY
FX50 25 BODYFX50 15 BODY FX50 35 BODY FX50 50 BODY

OPTIONAL
LOAD

SPREADING
BODY WASHER Ø50

Ø50

FX50 PW
PLUS WASHER

OPTIONAL
LOAD

SPREADING
PLUS WASHER5

HEADS:

50mm DIAMETER STRUCTURAL LOW PROFILE PIN

H
E

A
D

BODIES:
Ø32 + Ø50

B
O

D
Y

FX50 CAP

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60



FLAT BAR WITH FX MASONRY WALL WITH
M10 DYNABOLT

TUBE WITH FX
BALUSTRADE HEAD

(BLE RECESSED INTO TUBE)

RHS WITH
M10 NUTSERTS

TIMBER WITH
FACE PLATE

RHS WITH FX
BALUSTRADE HEAD

(BLE RECESSED INTO TUBE)

ANGLE WITH M10
SOCKET HEAD CAP SCREW

BACK - TO - BACK TUBE WITH M10
WELDED STUDS

BALUSTRADE HEAD

NOMINAL SPAN OF 8M
USING 1 x BDE AND 1 x BLE

NOMINAL SPAN OF 16M USING BLE BOTH ENDS

FX13 BDE
FX13 BLE WITH
FX13 BPA/BLE

FX13 BDE/BPA WITH
FX13 BDE

FX13 BLE

FASTENING:
As an a l ternat ive  to  FX BALUSTRADE HEAD, i t  i s  a l so poss ib le  to  use 
F IX ' s  range o f  M10 PIN Head opt ions ,  FX M10 FACE PLATE,  or  any o f  
our  M10 fas teners  as  ba lus t rade fas teners .

SPANS:
For  each FX13BLE a  nomina l  span o f  8m can be ach ieved,  for  spans  between 8m and 16m an 
FX13BLE f i t t ing  i s  requ i red a t  both ends .  For  spans  greater  than 16m, components  can be 
mounted back  to  back .

BUILDING CODES:
Please ensure that  your  ba lus t rade layout  conforms to appropr ia te  bu i ld ing  s tandards .

FX13CBL:
Ba lus t rade Cab le
The F IX ba lus t rade sys tem requ i res  the use o f  1/8"  d ia .  7  x  7  s t rand 316 grade s ta in less  wire .

SWAGING:
For  on s i te  ba lus t rade ins ta l l a t ion,  a  Swag ing  Tool  #8 and wire-cut ters  are  requ i red.  

BALUSTRADING

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6



FASTENERS:

FX13 LIVE END

FX13BLE:
Ba lus t rade L ive End
-  Tens ionab le  f i x ing ,  max imum 
ad jus tment  45mm
- For  each FX13BLE a  nomina l  span o f  
8m can be ach ieved,  for  spans  between 
8m and 16m an FX13BLE i s  requ i red a t  
both ends
-  For  spans  greater  than 16m, 
components  can be mounted back  to  
back

LOCATION :
In ter ior  and exter ior  app l i ca t ions

THREAD:
M10

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:
316 grade Sta in less  S tee l

FX13CBL:
Ba lus t rade Cab le
-  7  X 7 s t rand,  Ø1/8"  316 Grade 
s ta in less  s tee l  cab le
 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  i t  
i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX13 BLE PACK:

137

BODY
BODY

TENSION
ADJUSTER END COVER

LIVE END COVER

SWAGE

O.D Ø21
I .D Ø10

Ø13

77 60

12

OPTIONAL
BODY WASHER

20
12

Ø13

13mm DIAMETER BALUSTRADE LIVE END FX13 BLE

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

FX13 BW
BODY WASHER

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXBH
BALUSTRADE

HEAD

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60

M10



FASTENERS:

FX13BDE:
Ba lus t rade Dead End
Sta t ionary  non ad jus tab le  f i x ing

LOCATION:
In ter ior  and exter ior  app l i ca t ions

THREAD:
M10

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:
316 grade Sta in less  S tee l

FX13CBL:
Ba lus t rade Cab le
-7 X 7 s t rand,  Ø1/8"  316 Grade 
s ta in less  s tee l  cab le
 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX13 BDE PACK:

50

12

DEAD END COVER

DEAD END COVER

FX13 DEAD END

SWAGE
Ø13

O.D Ø21
I .D Ø10

FX13 BW
BODY WASHER

OPTIONAL
BODY WASHER

13mm DIAMETER BALUSTRADE DEAD END FX13 BDE

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXBH
BALUSTRADE

HEAD

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60
20

12

Ø13

M10



FASTENERS:

FX13BPA:
Ba lus t rade Pivot  Assembly
-  The FX13BPA i s  a  swing ing  p ivot  
for  f i x ing  cab les  a t  any ang le  
requ i red
-  The FX13 BPA can on ly  be used in  
con junct ion wi th  an FX13BDE or  
FX13BLE
 

LOCATION :
In ter ior  and exter ior  app l i ca t ions

THREAD:
M10

FINISH:
Sat in  S ta in less  S tee l

MATERIAL:
316 grade Sta in less  S tee l

FX13CBL:
Ba lus t rade Cab le
-7 x  7  s t rand,  Ø1/8"  316 grade 
s ta in less  s tee l  cab le

 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FX13 BPA PACK:

35
PIVOT ASSEMBLY

M10 x 16 STUD

PIVOT

Ø13 O.D Ø21
I .D Ø10

FX13 BW
BODY WASHER

OPTIONAL
BODY WASHER

13mm DIAMETER BALUSTRADE PIVOT ASSEMBLY FX13 BPA

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

FX13 PIVOT ASSEMBLY

80

130

Ø50

FXTB
TOGGLE BOLT

FXCS
CAP SCREW

FXBH
BALUSTRADE

HEAD

FXLB
LAG BOLT

FXFP
FACE PLATE

FXDB
DYNABOLT

FXCH
CHEMICAL ANCHOR

60
20

12

Ø13

M10



F
A

S
T

E
N

E
R

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

THREAD:
¼" B.S .W

FINISH:
Sat in  S ta in less  S tee l

 

MATERIAL:  
Zinc p la ted -  mount ing  p la te
304 grade s ta in less  s tee l  -  cover  
p la te

 

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .

FACEPLATE 1/4"  W PACK:

1/4"B.S .W
STUD /
ALLTHREAD

1/4"B.S .W
STUD /
ALLTHREAD

Ø50

SCREWS

FIXING PLATE

COVER PLATE

COVER PLATE 6

12

6

10

8

5

30
20

Ø12

Ø12

FX12 20 BODY FX12 30 BODY

M4

1/4" BSW

FACE PLATE:

50mm DIAMETER FACE PLATE

F
A

C
E

 P
L

A
T

E

APPLICATIONS:

FXFP  1/4"

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

10

10

30
20

50Ø19

Ø19

Ø19

FX19 20 BODY FX19 30 BODY FX19 50 BODY

10

10

30
20

50

75

100

Ø25

Ø25

Ø25

Ø25

Ø25

FX25 20 BODY FX25 30 BODY FX25 50 BODY FX25 75 BODY FX25 100 BODY



F
A

S
T

E
N

E
R

LOCATIONS: 
In ter ior  and exter ior  app l i ca t ions

THREAD:
M10

FINISH:
Sat in  S ta in less  S tee l  

MATERIAL:  
Zinc p la ted -  mount ing  p la te
304 grade s ta in less  s tee l  -  cover  
p la te  

PRODUCT COMPLIANCY: 
As F IX Sys tems are not  cer t i f ied 
eng ineers ,  i t  i s  the buyer ' s  
respons ib i l i t y  to  ensure that  the 
app l i ca t ion o f  a l l  F IX products  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl iant  wi th  re levant  sa fe ty  
s tandards .
 

FACEPLATE M10 PACK:

M10 STUD 

M10 STUD /
ALLTHREAD

Ø50

Ø16

Ø10

FIXING PLATE

COVER PLATE 6

5

FX13 BDE

DEAD END

FX13 BLE

LIVE END

FX13 BPA

PIVOT ASSEMBLY

FX16 HRB
FX HANDRAIL BRACKET

16

12
85

75

SCREWS

COVER PLATE6

FACE PLATE:

50mm DIAMETER FACE PLATE

F
A

C
E

 P
L

A
T

E

APPLICATIONS:

FXFP  M10

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

12

12

35
25

50Ø32/50

Ø32/50

Ø32/50

FX32 25 BODY FX32 35 BODY FX32 50 BODY
FX50 25 BODY

15

Ø32/50

FX32 15 BODY
FX50 15 BODY FX50 35 BODY FX50 50 BODY



M10 FASTENERS:

13
OR
20

50
OR
75

Ø50

FASTENERS COME WITH COMPATIBLE 1/4" BSW STUD

1/4"  WHITWORTH THREADED 
STUDS AVAILABLE:
- LENGTH 12MM
- LENGTH 16MM
- LENGTH 19MM
- LENGTH 22MM
- LENGTH 25MM
- LENGTH 27MM
- LENGTH 29MM
- LENGTH 32MM
- LENGTH 38MM
- LENGTH 51MM
- LENGTH 75MM
- LENGTH 100MM 

M10 THREADED STUDS 
AVAILABLE:
- LENGTH 16MM
- LENGTH 20MM
- LENGTH 25MM
- LENGTH 30MM
- LENGTH 35MM
- LENGTH 40MM
- LENGTH 50MM
- CUSTOM LENGTH

* M.C.H = 
MINIMUM CLEARANCE HOLE

* PILOT = 
PILOT DRILL S IZE

PRODUCT COMPLIANCY: 
As  F IX  Sy s tems  a re  no t  ce r t i f i ed  
e n g i n e e r s ,  i t  i s  t h e  b u y e r ' s  
r e spons i b i l i t y  to  en su re  t ha t  t he  
app l i c a t ion  o f  a l l  F IX  p roduc t s  i s  
su i tab le  for  i t s  in tended use and that  
i t  i s  compl i an t  w i th  re levan t  sa fe ty  
s tandards .

35
51

FXNW
NUT AND WASHER

STUD
M.C.H Ø7

FXST
SPRING TOGGLE

M.C.H Ø17

FXTI
THREADED INSERT

PILOT Ø8

FXLB (1/4")
LAG BOLT
PILOT Ø4

�

FXFP (1/4")
FACE PLATE
1/4 B.S.W

FXMA
MASONRY ANCHOR

M.C.H Ø13

FXCA
CAVITY ANCHOR

M.C.H Ø12

60
60

100

80

80 130

FXTB
TOGGLE BOLT

M.C.H Ø23

FXCS
CAP SCREW

M.C.H Ø10.5
(VARIOUS
LENGTHS

AVAILABLE)

FXLB (M10)
LAG BOLT
PILOT Ø8

FXFP (M10)
FACE PLATE

M10

FXDB
DYNABOLT
M.C.H Ø13

FXCH
CHEMICAL ANCHOR

M.C.H Ø12

FXBH
BALUSTRADE HEAD

M10
(316g)

1/4" FASTENERS:

FASTENERS

W W W. F I X . C O M . A U         P H   1 3 0 0  1 3 3  2 1 5         F A X   1 3 0 0  1 3 3  2 1 6

Ø50

20
12

Ø13


